CA and CSC 1

Surveys and data

This file include the 14 items in Survey 1 and 12 items in Survey 2 reported
in the paper Conjunction Agreement and the Coordinate Structure Constraint
as well as all the judgments collected (30 participants for Survey 1 and 18
participants for Survey 2). Numbers starting with (20) refer to the sentences
in the paper. For details of the survey, please refer to Section 3.1 of the
paper. Please contact Zheng Shen (zhengshen522@gmail.com) if you have
any questions.

Survey 1

(1) Danasse sudaraju sablje i koplja u bici.
today REFL collide.3PL.PRES sabers.FPL and spears.NPL in battle
‘Sabers and spears are colliding today.” (baseline w/o CSCV, (20))

(2) Sablje se danasi koplja sudaraju u bici.
sabers.FPL, REFL today and spears.NPL collide.3PL.PRES in battle
‘Sabers and spears are colliding today.’ (CSCV scrambling, (21))

3 Sta se danasi koplja sudaraju u bici?
what, REFL today and spears.NPL collide.3PL.PRES in battle?
‘What and spears are colliding today?’ (CSCV wh-movement, (22))

4 Juce su se  sudarili sablje i  koplja u
yesterday AUX.PL REFL collided.MPL sabers.FPL and spears.NPL in
bici.
battle
‘Sabers and spears collided in battle.” (no CSCV + M agreement,
(25b))

(5)  Juce su se  sudarila sablje i  koplja u
yesterday AUX.PL REFL collided.NPL sabers.FPL and spears.NPL in
bici.
battle

‘Sabers and spears collided in battle.” (no CSCV + C2 agreement,
(250))
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(8)
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Juce su se  sudarile sablje i  koplja u
yesterday AUX.PL REFL collided.FPL sabers.FPL and spears.NPL in
bici.

battle

‘Sabers and spears collided in battle.” (no CSCV + C1 agreement,
(25a))

Sablje su se juce sudarili i  koplja u
sabers.FPL AUX.PL REFL yesterday collided.MPL and spears.NPL in
bici.

battle
‘Sabers and spears collided in battle.” (CSCV + M agreement, (26b))
Sablje su se juce sudarila i  koplja u

sabers.FPL AUX.PL REFL yesterday collided.NPL and spears.NPL in
bici.

battle

‘Sabers and spears collided in battle.” (CSCV + C2 agreement, (26c))

Sablje su se juce sudarile i  koplja u
sabers.FPL AUX.PL REFL yesterday collided.FPL and spears.NPL in
bici.

battle

‘Sabers and spears collided in battle.” (CSCV + C1 agreement, (26a))

Sablje su se juce sudarile i koplja u bici.
Sabers.FPL AUX REFL yesterday collided.FPL and spears.NPL in battle
‘Sabers and spears collided in battle yesterday.’ (collective reading,
(32a))

Potrebno je proceniti da li reCenica odgovara prikazanoj slici.
‘Please judge the sentence according to the image’

Da. ‘Yes.’

Ne. ‘No.

Figure 4: collective (Figure 2 in Arsenijevic et al. 2020b, Figure 1).
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(11)  Sablje su danas stavljene i  koplja u 3
Sabers.FPL AUX today put.PASSIVE.FPL and spears.NPL in three
kutije, koplja u dve kutije, a  sablje u jednu.
boxes, spears in two boxes, and sabers in one
‘Sabers and spears were put in three boxes today, spears in two
boxes, and sabers in one.” (Cumulative reading (32b))

Potrebno je proceniti da li reCenica odgovara prikazanoj slici.
‘Please judge the sentence according to the image’

Da. ‘Yes.’

Ne. ‘No.’

Figure 5: cumulative reading, Figure 2.

(12)  Sablje su danas stavljene i  kopljau razli¢ite kutije.
Sabers.FPL AUX today put.PASSIVE.FPL and spears in different boxes
‘Sabers and spears were put in different boxes.” (Internal reading,
(32¢))
Potrebno je proceniti da li re¢enica odgovara prikazanoj slici. ‘Please
judge the sentence according to the image’

Da. ‘Yes.’
Ne. ‘No.’
Figure 6: internal reading, Figure 3.
(13) Njegovi vojnici volesvakog generala i  svojuzemlju.
his soldiers.NOM love every.ACC general.ACC and self’s country.ACC

‘For every general, the general’s soldiers love that general and the
soldiers’ country.” (no CSCV + bound variable reading, (23a))
Ciji su vojnici? ‘Whose soldiers are they?’

- Generalovi. ‘The generals’.’

- Od nekog drugog.  ‘Someone else’s.’
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Svakog generala; njegovivojnici volei  svojuzemlju.
every.ACC general.ACC his soldiers.NOM love and self’s country.ACC
‘For every general, the general’s soldiers love that general and the
soldiers’ country.” (CSCV + bound variable reading, (23b))

Ciji su vojnici? ‘Whose soldiers are they?’

- Generalovi. ‘The generals’.’

- Od nekog drugog. ‘Someone else’s.’
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Survey 2

(1)

(2)

(3)

(4)

(5)

(6)

(7)

€))

Juce su se sablje sudarile i koplja u bici.
yesterday AUX REFL sabers.FPL collided.FPL and spears.NPL in battle
‘Sabers and spears clollided in the battle yesterday.” (Aux C1 Part
and C2 + C1 agreement, (37a))

Juce su se sablje sudarili i koplja u bici.
yesterday AUX REFL sabers.FPL collided.MPL and spears.npl in battle
‘Sabers and spears clollided in the battle yesterday.” (Aux C1 Part
and C2 + M agreement, (37c))

Juce su se sablje sudarila i koplja u bici.
yesterday AUX REFL sabers.FPL collided.NPL and spears.NPL in battle
‘Sabers and spears clollided in the battle yesterday.” (Aux C1 Part
and C2 + C2 agreement, (37c))

Juce su se sudarila koplja, sekire i  sablje.
yesterday AUX REFL collided.NPL spears.NPL, axes.FPL, and sabers.FPL
three Cs, no CSCV, C1 agreement (43a)

Juce su se sudarile koplja, sekire i  sablje.
yesterday AUX REFL collided.FPL spears.NPL, axes.FPL, and sabers.FPL
three Cs, no CSCV, C2 agreement (43c)

Juce su se sudarili koplja, sekire i  sablje.
yesterday AUX REFL collided. MPL spears.NPL, axes.FPL, and sabers.FPL
three Cs, no CSCV, res agreement, (43b)

Juce su se koplja sudarile, sekire i sablje
yesterday AUX REFL spears.NPL collided.FPL t axes.FPL, and
u bici.

sabers.FPL in  battle
three Cs, CSCV, C2 agreement, (44c)

Juce su se koplja sudarila, sekire i sablje
yesterday AUX REFL spears.NPL collided.NPL t axes.FPL, and
u bici.

sabers.FPL in  battle
three Cs, CSCV, C1 agreement, (44a)
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Juce su se koplja sudarili, sekire i sablje
yesterday AUX REFL spears.NPL collided. MPL t axes.FPL, and
u bici.

sabers.FPL in  battle
three Cs, CSCV, M agreement, (44b)

Sablje su se juce i  koplja sudarili u
sabers.FPL AUX REFL yesterday and spears.NPL collided.MPL in
bici.

battle
CSCV, C1 Aux and C2 Part, M agreement, (41b)
Sablje su se juce i koplja sudarile u bici.

sabers.FPL AUX REFL yesterday and spears.NPL collided.FPL in battle
CSCV, C1 Aux and C2 Part, C1 agreement, (41a)

Sablje su se juce i  koplja sudarila u
sabers.FPL. AUX REFL yesterday and spears.NPL collided.NPL in
bici.

battle

CSCV, C1 Aux and C2 Part, C2 agreement, (41c)
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subject | (1) | | Q) | B [G)|6O) | (M| ®[(® [0 ] (A1) [(A2)[(A3)|(OAD
subjl S 1 1 S 2 S 1 1 1 Ne. | Da. | Da. | gen | gen
subj2 |5 |5 |1 |4 |2 |4 |2 |2 |5 |Da. |Da. |Da. |od | gen
subj3 |5 |5 |1 |3 |1 |5 |1 |1 |5 |Da |Da |Da. |od |gen
subj4 (4 |3 |1 |5 (1 |3 |1 |1 |1 |Da. |Da. |Da. |od |gen
subj5 2 |5 |3 |5 (3 |5 |4 |4 |4 |Da |Da |Da. |gen |od

subj6 |5 |4 |2 |3 |2 |5 |2 |2 |4 |Da. |Da. |Da. |od | gen
subj7 |5 |3 |1 |5 |1 |3 |1 |2 |1 |Da. |Da. |Da. |gen |gen
subj8 |5 |3 |1 |4 |5 |5 |1 |1 |2 |Da |Da. |Da. |od |gen
subj9 |5 |2 |1 |5 |1 |5 |1 1 1 |Ne. |Da. |Da. |od |od

subjl0 |5 |3 |5 |5 |1 |5 |1 |1 |1 |Ne |Ne |Ne |od |gen
subjll1 |5 |1 (3 |5 |1 |5 |1 |1 |1 |Ne |Ne. |Ne. |od |gen
subjl12 (5 |2 |1 |5 (1 |3 |1 |1 |1 |Da. |Da. |Da. [od |od

subj13 |5 |1 1 |5 |2 |2 |2 |1 |2 |Ne |[Ne |[Ne |od |gen
subji4 (2 |1 |1 |2 |3 |3 |1 |2 |3 |Da |Da |Da |od |gen
subjl5 |5 |4 (1 |5 |1 |5 |1 |1 |2 |Da. |Da. |Da. |od |gen
subjl6 |5 |1 |2 |5 |1 |5 |1 1 |2 |[Ne. |[Ne. |[Ne. |od |gen
subjl17 |5 |5 |1 |5 |2 |3 |1 1 |5 |Da. |Da. |Da. [od | gen
subji18 |5 |2 |1 |5 |5 |4 |1 |1 |1 |Da. |Ne |Da. |od |gen
subjl9 (4 |4 |1 |4 |5 |5 |1 |1 |2 |Da. |Da. |Da. |od |gen
subj20 [5 |5 |1 |1 1 |5 |1 1 |5 |Da. |[Da. |Ne. |od |gen
subj21 |4 |2 |1 |2 |3 |5 |1 1 1 |Da. |Da. |Da. |od |gen
subj22 |5 |3 (1 |5 |1 |1 |1 |1 |4 |Da |Da. |Da. |od |gen
subj23 |5 |4 |1 |5 |2 |5 |4 |1 |4 |Da |Da. |Da. |od |gen
subj24 (4 |1 1 (5 |1 |5 |1 1 1 | Ne. |Ne. |Ne. | gen |gen
subj25 (3 |2 |1 |2 |3 |3 |2 |2 |2 |Da |Da |Ne |od |gen
subj26 |5 |1 (1 |4 |4 |4 |1 |1 |1 |Ne |Ne. |Ne. |od |gen
subj27 | 5 1 1 4 |3 |5 1 1 1 Ne. | Ne. | Ne. | gen | gen
subj28 |5 |1 1 (5 |1 1 1 1 |3 |Da. |Da. |Da. |od | od

subj29 |5 |2 |1 |5 |1 |5 |1 |2 |1 |Ne |Ne |Ne |od |gen
subj30 |5 |1 (2 |5 |1 |4 |1 |1 |1 |Ne |Ne. |[Ne. |od |od

Table 11: Survey 1 raw results, n = 30, the subject number indicates the

order in which they completed the survey.
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1 |2|3|4|5 | median | mean
baseline, no CSCV (1) 0 [2|1(4]23]|5 4.6
CSCV scrambling (2) 10[{6|5]|4|5 |2 2.6
CSCV wh (3) 2432|011 |1 1.4
M agreement, no CSCV (4) |1 312|5(19|5 4.3
C2 agreement,no CSCV(5) [15|6|5|1 |3 | 1.5 2.0
C1 agreement, noCSCV (6) |2 1|64 |17 |5 4.1
M agreement, CSCV (7) 2414101210 |1 1.3
C2 agreement, CSCV (8) 2316|0110 |1 1.3
C1 agreement, CSCV (9) 1416|2414 |2 2.3

Table 12: Survey 1 distribution, median, and mean for (1-9), n = 30. Note
that the distribution of (10-14) has been reported in the paper.

1 [2|3|4|5 | mean | median
baseline, no CSCV (1) 0 [1]|1(3]15]|4.6 5
CSCV scrambling (2) 0O |[6|/5(4|5 |34 3
CSCV wh (3) 17(1(11|0(1 |[1.35 |1
M agreement, noCSCV (4) |1 |2|2|3|12|4.15 |5
C2 agreement, no CSCV (5) |10 4|3 |0 |3 |21 1.5
C1 agreement, noCSCV (6) |1 |0 |5 |2 |12 | 4.2 5
M agreement, CSCV (7) 15/{3(0|2|0 |1.45 |1
C2 agreement, CSCV (8) 14|5|0(|1]|0 |1.4 1
C1 agreement, CSCV (9) 8 [4|10(4|4 |26 2

Table 13: Survey 1 distribution, mean, median, n = 20, excluding 10
participants who rated CSCV scambling as 1.
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1 |[2]|3|4|5 | mean | median
baseline, no CSCV (1) 0 [1|]0(2]11]|4.6 5
CSCV scrambling (2) 0O [0|5(4|5 |4.0 4
CSCV wh (3) 11(1(1]0|1 |1.5 1
M agreement, no CSCV (4) |1 0(2|3|8 |4.2 5
C2 agreement, noCSCV (5) |7 (41|02 |20 1.
C1 agreement, noCSCV(6) |1 (0|3 |1|9 |42 5
M agreement, CSCV (7) 1020|120 |1.6 1
C2 agreement, CSCV (8) 103({0|1|0 |1.4 1
C1 agreement, CSCV (9) 3 |3|/0|4|4 |3.2 4

Table 14: Survey 1 distribution, mean, and median. n = 14, excluding
participants who gave CSCV scrambling a rating of 1 or 2.
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Table 15: Survey 2 raw results, n = 18.
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1 [2|3|4|5 | mean | median
Aux C1 Part and C2 + C1 agreement (1) 4 141361 2.8 3
Aux C1 Part and C2 + res agreement (2) 1414(0|0|0 |1.2 1
Aux C1 Part and C2 + C2 agreement (3) 14|{3|{0|0|1 |1.4 1
three Cs, no CSCV, C1 agreement (4) 1 |[0|0]|2]|15 (4.7 5
three Cs, no CSCV, C2 agreement (5) 7 1211162 |27 2.5
three Cs, no CSCV, M agreement (6) 1 210(2(13]4.3 5
three Cs, CSCV, C2 agreement (7) 1511|011 |1.4 1
three Cs, CSCV, C1 agreement (8) 6 |6|3|1]|2 |23 2
three Cs, CSCV, M agreement (9) 15(1(2|0(0 [1.3 1
CSCV, C1 Aux and C2 Part, M agreement (10) |6 |[1|2|5|4 |3.0 3.5
CSCV, C1 Aux and C2 Part, C1 agreement (11) (8 |4 |40 |2 |21 2
CSCV, C1 Aux and C2 Part, C2 agreement (12) |6 |4 |1 (3|4 |27 2

Table 16: Survey 2 distribution, mean and median, n = 18.




